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 Partial Sums Algorithm
This partial sums algorithm involves adding the thousands, hundreds, tens, and ones separately and then combining the results.  This method has more written steps but they are easier to execute, particularly when there is regrouping involved in the addition. Below are several samples of the use of this algorithm:

Example #1

  486

+269
  600

4 hundreds + 2 hundreds = 6 hundreds

  140

8 tens + 6 tens = 14 tens or 140 OR 80 + 60 = 140

    15

9 + 6 = 15
  755

add the hundreds, tens, and ones again

Example #2

  4528

+3097

  7000

4 thousands + 3 thousands = 7 thousands

    500 
5 hundreds + 0 hundreds = 5 hundreds

    110

2 tens + 9 tens = 11 tens or 110 OR 20 + 90 = 110

      15

8 + 7 = 15
  7625

add the thousands, hundreds, tens, and ones again


